6.2 SOLVING TYPE II EQUATIONS

A Type II equation will require you to do two opposite or inverse operations to solve for the
variable (letter). Always do the opposite of any addition or subtraction first, then proceeed to do
the inverse operation of any multiplication or division, as shown in the examples below.

EXAMPLE #1 EXAMPLE #2
5x -9 = x +7=93
S5x=8+9 5
5x = 17 x =93-7
x =17 5 :
5 3 X =23
x =34 5 1
x =115

A. Solve the following.

1. 3x+2=14 2. x +4=10 3. x +3=3%
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4 K¢ t-03
4 Y,x-8 =16 5.5-09=2 6. Yyx +3, ="/
4% 0-5% ’,;f- |
7. 12x - 12 = 84 (8.%,x-5=15 9. x-8=10
| 7
% 70 [P
10. 4x + 8 = 4 11, 4/sx = 60 12. 02x + 03 = 14
—1 75 5.5
13. x +3 = -8 14, 2=x+5 15 x+5=-12
5 8 8
~-55 56 — 13
16. -18x + 5 =132 /17. 5x -3 = 18 18.x-8=-10
—_— » p L T
~0.45 ﬁ.Qozﬁ?ﬁ” — {4
19, 14 =3x-5 2. x+18=5 21 4x + 7 = 0.07
- 5 |
L 5=6.3 -5 -[. 7335
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22. %/,x-8=28 (23, -13x + 3 = 24. -42x + 4 = -8
C A |
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B. Extra Practice. Solve the following.

1. 3x-5=10 2. x+3=7 3. 4x -5 =
) 6 24 3
4. -5x -6 = 13 5.8 +3=-4 6. X+ 6= -9
—3.8 R 5 —J0
7. -4x - 9 = -113 8. X +6=-9 9. -3x + 7 = 21
2 ® 45 - 9=
10. */;x + 7 =50 11. 0.6x + 0.3 = 0.1 12. 5/,x+ 7 = 42
325 -3 21
13. -82x + 5 = 17 14. 27 = -9x + 9 15. 7/,x-6 =6
~ /. 4634 -2 &5
16. 2/3x+5=5" 17. 5x -3 = 20 18. 3/,x+ 6 =-11
O 4.6 22.6
19. 3.1x+ 4 = 16 20. fox+ 1y =4 21 -06x+7=14
3. 876%77 i ~/ 6
22. 08x+5=2 23. 15x + 4 = 10 24. 10x + 0 = 10
o235 0.4 [
25. 3x-5=6 26. -7x -7 = -7 27. 2x +2=2
3.6 O O
28. ¥, x+5 =20 29. -3x - 8 = 20 30. 20x - 5 = 18
a0 - 73 /15
3L 3x +2 =11 32.x-8=-10 33. 4x + 8 = 4
3 6 —J2 —
34. x -30 =39, 35. /s x = 60 36. 02x + 3.1 = 4.1
63 75 5
37. x +5 = -12 38. -3a + 9 =27 39. 5x -3 =18
S 49,0 -6 . 42
40. 14 =3x -6 41. 27 =5+ 2x - 42. 35 = -3x + 2
63 1 l
43. 3/,x -5 =20 44. 05 = 0.5x - 10 45. 40x + 80 = -120
333 2 -5
46. 17x + 19 = 19 47 x + 13 = 19 48. 2x -7 = 0.7
- 3.85
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